BIC

5x10°

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x108

108

2x10°

5

10

10 100

1

1000

100

rm313 2/(408715 —4859)=0.912

BIC 431208 50 ABIC 0. OOO AIogP 0.0000
i : x 368426.47 Ax 0.000 AlogP 0.0000 T
T —— ]
: _______________________________ L:‘; —_.— . . —e——r _: BIC
: 2
- . ABIC —172058 1 X
i : M —172058 |
4859 : 4859
A ' ACq
L L L L | L L L L | L L L L | L L L L | L L L L | L L L L |
10 20 30 40 50 60
60 iterations
rm313 2/(408715 4859) 0.912
E™ +~ ' +~ T - T T T T T T T T T T T T 13
F : BIC 431208 50 ABIC 0. OOO AIogP 0.0000 7
. A v % 368426.47 Ax 0.000 "AlogP "0.0000 3
= 4859 1 4859 7
. N ’7 -------- AGg -« v vooeeee ]
E_ . L L L | L L L L | L L L L | L L L L | L L L L | L L L L E
10 20 30 40 50 60
60 iterations
Fe2 27% 783+222 km/s
rm313 BLR 14090 NLR 900 km/s
F— - - - 1 - - - - 1 - T 1 T T T 1T T T T T T T T T T 7
I | BLR

MR

60 iterations

kdh1 8-0ct—2021 12:44



